¢ SHREE Statistics

M > RSC TUTORS

Name - Starttime- _ . End time-_

Solve the following.

1. Find the mean of children per family from the data given below :

'NUMBER OF CHILDREN ' NUMBER OF FAMILIES
0 5

1 L1

2 25

3 12

4 2

2.  The ratio of the sum of observations and the total number of
observations is called:

a. Mean

b. Median

c. Mode

d. Central tendency

3. The median of the data: 4.6, 8,9, 11 is

a. 6

b. 8

c.9

d. 11
4. The median of the data: 155, 160. 145. 149, 150, 147, 152, 144,
148 is

a. 149

b. 150
c. 147
d. 144
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